0525

chromatlcny (x,y)

CIE 1931

Ostwaldcolours (o) Yyy=100
M, max (m) chromatic value, D65

0,6

0,8

Name and spectral range
Ry 561_770 ¥, 520_770
m Gm 475 573 G 380 561

X

1,0

X, 9504, 100,00Z,~1089, B,
%=0,3127y,,=0,3290

Ao=(ag-[2g n+80,y*ap,Al) ¥
Bo=(bo=[bo,+0o,y+bo,
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

\
n = D65 -40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,,=0,000,b,,=0,000 5
a9 A=0,000,by ,=0,000
Ostwaldcolours (0) Yy=100 21
max (m) chromatic value, D65
chromatic value (Ag, Bg)

CE321-1A_1

CE321-2A_1

X=95,04,Y,,=100,00Z,,~108,89 81
Xw=0,3127y,,=0,3290

Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y

3y = ay[(x-0,17Dh]

by =byo [ZA

ay=1, byp=-0,4
my1=1,000,bg,=0, 17,1 '

78

=

n = D65

3y, y=ay(Y/Y1g- 1)

by y=boy(Y/Y1g-1
ay=0,000,b,,=0, ooo

a3 4=0,000,b; 4=0,000
Ostwaldcolours (0) YW—100

max (m) chromatic value, D65
chromatic value A4, B;)

T-40

34

Xu=95,04,Y,~100,00Z,~108.89 B,
%=0,3127y,,=0,3290 1
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y

2y = a0 [(x=0,17D/y] 93  +

b=bz0 [(Mpx+bp1)/y]
ay=1, byp=-04 0\\
Mp;=-0,169 bp;=0,369 '

n = D65
a5 y=agy(Y/Y1g-1) 58

by v=boy(Y/Y1g-1) 2
a,y=0,000,b,,=0,000

a, o=0,000,b, ,=0,000
Ostwaldcolours (0) Yy\=100
max (m) chromatic value, D65
chromatic value (A,, Bo)

40

CE321-3A_1

CE321-4A_1

X,=95,04Y,,~100,00Z,~108,89 B,
Xw=0,3127y,,=0,3290 4
A

53-[ag rtag ytag al) Y

5
Bg=(bg-[bg ntb3 y+b3 Al) Y
ag = ay[(x-0,17D/y]
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

X,=95,04,Y,~100,00Z,~108.89 B,
%=0,3127y,,=0,3290 1
As=(8y~[a4,1+aq y*+ag al) Y
B,=(b4=[Dg 04 y+04 Al) Y
ay = a0 [(x-0,172/y] 4
=50 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4

78
4)\0\$L A
Mp1=—0,974 b, =0, 658 3 Mp;=-0,169,bp;=0,389 , R
n = D65 40 n = D65 _40 ) ) 40
ag y=ay(Y/Y1g- 1) 34 3y, y=agy(Y/Y1g-1) 5
b y=boy(Y/Y1g~1 by y=boy(Y/Y1g-1) 21 9T
,,=0,000,,,=0, ooo a,,=0,000,5,,=0,000 6
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy,=100
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
chromatic value (A3, Bg) chromatic value (A4, By)
CE321-5A_1 CE321-6A_1
X,=95,04,Y,,100,002,,~108,89 B, X4=95,04,Y,,100,007,=108,89 B,
%y=0,3127y,,=0,3290 240 Xy=0,3127y,,=0,3290 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bg=(05[bs n+bs y+bs Al) Y 78 Bg=(bg[bg,ri+b v+bs Al) Y 93 8
a58,,{(0,86¢-0,71y-0,026 + ag = a0 [X1] e "
b5=b2x[(0:19<+0v3&"0 2 41 bg=bo [(mD1X+b|31)/Y]
=1,00,by, = 1,00 ay0=1, byg=-0,4 A
)\B 6,vR=475,503,574,494¢.E nm , 5 , 6
n = D65 ) 40 n = D65 ) 40
a5 y=agy(Y/Y: 18_1) aG,Y:aZV(Y/Y:LS_l) 34
bs y=boy(Y/Y1g~1) | 34 b, y=boy(Y/Y1-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 6 a5,4=0,000,b5 4=0,000 6
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




515 520 525 Ostwaldcolours (o) Y\y=100 Xw=96,42,Y,,~100,00,2,,=82,49 BD
08 17 o M rr;1ax (mz chro(mat)lc value, D50 X=0,3457y,,=0,3585 +40
510( M chromaticity (x =]
y V t);\lami and spectral range éo=$o-{§g":§gv:§§ﬂ§ i 88 80
Ry 561_770 ¥, 520_770 070 0.nTR0, YR,
Gm 475_573 (G, 380_561 ag = ao [x/y] 4L a2
38, 380_520 M, 573_475 bg = bao [2M) 63
ay =1, byp=-0,4 A
1 1 1 Lo
n = D50 _4'0 ! ! 4r0
R 625 ag y=ayy(Y/Y1g~1)
> 70 2
“%95¢,E b, y=boy(Y/Y1g-1) 1 36
a,,=0,000,5,,=0,000
2y A=0,000,by =0,000 NS
; ; 11
‘ CIE 1931 X Ostwaldcolours (0) Y\\=100
0 max (m) chromatic value, D50 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ay, Bg)
CE321-1A_1 CE321-2A_1
X,=96,42,Y,,~100,002,~8249 B, X4=96,42,Y,~100,007,=8249 B,
Xy=0,3457y,,=0,3585 E Xw=0,3457y,,=0,3585 T 40
Ar=(ar~[ag n+ay yt+ag al) Y 20 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] 2 2y = a0 [(x=0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y] 88 80
ay0= 1, byo= -0,4 ay0=1, byg=-0,4 2 A
My;=1,000by; =017 , , Mp;=-0,169.bp;=0,389 ) 2
n = D50 —40 ' n = D50 _40 ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 57
by v=boy(Y/Y1g-1) Eo 03 y=boy(Y/Y1g-1) el 11
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 % a, x=0,000,b; ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE321-3A_1 CE321-4A_1
X,=96,42,Y,,~100,00Z,~8249 B, X4=96,42,Y,~100,007,8249 B,
Xy=0,3457y,,=0,3585 X0 Xw=0,3457y,,=0,3585 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] gl 80 ay =2y [(x-0,171/y] g
b3=byo [(Mp1x+bp1)/y] 42 =50 [(Mp1x+bp1)/Y] 88 80
ay0=1, byy=-0,4 G a=1, byy=-04 N A
Mp1=-0,974,00,=0.658 > , Mp;=-0,169.bp;=0,389 , , R
n = D50 40 ' = n = D50 —40 56?\'\ ' 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b y=boy(Y/Y1g-1) 5 EleT] by y=boy(Y/Y1g-1) & 111
,,=0,000,5,,=0,000 19 a,y=0,000,b,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy,=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE321-5A_1 CE321-6A_1
X,=96,42,Y,,~100,00Z,~8249 B, X4=96,42,Y,,~100,007,=82,49 B,
Xy=0,3457y,,=0,3585 X0 X=0,3457y,,=0,3585 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=a((0,86x-0,71y-0,026)f] 88 tgg g = a0 [X/y] 88 180
b5=b2x[(0,19<+0,3&—0,24 b=, [(Mp1x+bp 1)yl 42
=1,00by,=1,00 €63 42 ay0= 1, byo= -0,4 A
)\B 6.vR=475,503,574,494¢ E nm ) o {63 ) 6
n = D50 _40 ) 40 n = D50 _40 ) T 360
a5 y=apy(Y/Y1g-1) 5 36 ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 57
8gy=0,000,b5,=0,000 191 11 8,=0,000,,,=0,000 ] U
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




515 520 525 Ostwaldcolours (o) Y\y=100 X,=100,93,Y,,=100,00,2,,=64,68 BD
0,8 1/ ° M max (m) chromatic value, P40 X=0,3799y,,~0,3764 T40
510[¢ chromatlcny (x,y) A= +an o Y
y Name and spectral range BO-EED {Zg "+§g ngg ﬂ% Y
Ry 561_770 ¥, 520_770 O \R0T o Y 78 83
Lm Gy 475 573 G, 380 561 89 = 850 [x/Y] +
yam 380_520 M, 573 475 by = bao [2/4] % 43
ay0=1, byg=-0,4 A
+ t t #0
n = P40 -40 40
Q628 ag,y=ay(Y/Y1g-1) 39
93950, b y=bay(Y/Y1g-1) 56
a,,=0,000,5,,=0,000 I 21
a9 4=0,000,b5,4=0,000 B
. CIE 1931 X Ostwaldcolours (0) Y\\=100
0 max (m) chromatic value, P40 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag, Bg
CE321-1A_1 CE321-2A_1
X,=100,93,,100,007,64,68 B, X,=100,98,,~100,007,6468 B,
Xu=0,3799,,=0,3764 E Xw=0,3799y,,=0,3764 T 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 83 Bo=(by=[by +bs y+0y Al) Y
ay =y [(x-0,171/y] JL 2y = a0 [(x=0,17D/y] 4
=hyo[2/M] % 3 bo=boo [(Mpax+bp)ly] 78 83
ay=1, byp=-0,4 ay=1, byp=-0,4
My;=1,000by; =017 , , il Mp;=-0,169bp1=0.3 \o\.f’ '632
n=P40 —40 ' ' 40 n= P40 -40 55 ' D4'o
ay,y=ay(Y/Y1g-1) 39 a5 y=agy(Y/Y1g-1) 16 %
by v=boy(Y/Y1g-1) S 1 03 y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 21 a,,=0,000,5,,=0,000
a3 4=0,000,b; 4=0,000 B a 4=0,000,b,,4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE321-3A_1 CE321-4A_1
X,=100,93,,100,007,=64,68 B, X,=100,98,,~100,007,64,68 B,
Xy=0,3799,,=0,3764 X0 Xw=0,3799y,,=0,3764 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ayq [(x=0,171)y] + &3 ay = ay [(x=0,17D/y] 1
b3=byg [(Mp1x+bp1)/y] 43 bs=byo [(Mp1x-+bp1)/y] 78
a0= 1, byp= 0,4 i a90= 1, byg= ~0,4 8
20 = 0=~ 20 =1, byo =~
Mp1=-0,974,0p; 0,658 pe/pO/ : Ay Mp1=-0,169 bp;=0,369 ) _\0,\4.3 Ay
t b t t b
n = P40 —40 /.3% 40 n=P40 —40 M [ 4o
a3 y=ay(Y/Y1g-1) 21 3y, y=agy(Y/Y1g-1) 16 o
b3 v=b,y(Y/Y1g-1) 5% % 1 by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE321-5A_1 CE321-6A_1
X,=100,93,,100,007,64,68 B, X=100,93,,=100,007,64,68 B,
Xy=0,3799,,=0,3764 X0 X=0,3799y,,=0,3764 240

As=(35[35,1*35,y*a5,a]) Y
Bs=(bs—[bs b5 v+bs Al) Y

a5=2,,{(0,86¢-0,71y-0,026)§] 1

n= P40
a5 y=ay(Y/Y1g-1)
bs y=boy(Y/Y1g~1)
a,y=0,000,b,y=0,000

a5 4=0,000,b5 ,=0,000
Ostwaldcolours (o) Yyy=100

—40
56

max (m) chromatic value, P40
chromatic value (Ag, Bs)

b5=bzx[(0,19x+0,3&—0,240) 8
=1,00,b5 = 1,00 \0\\
)\B 6.v R=475,503,574,49%¢.E, nm

Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y] i
bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4

1 60 1

n=P40 40 '

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1) 56 6.
ay=0,000,b,y=0,000

a5,4=0,000,b5 4=0,000

Ostwaldcolours (0) Yy=100
max (m) chromatic value, P40

21

r—40

chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




0525

chromatlcny (x,y)

Ostwaldcolours (o) Yyy=100
M, max (m) chromatic value, AOO

Name and spectral range

Ry 561_770 ¥, 520_770
Lm Gy 475 573 G, 380 561
E;m 380 520 M, 573 475

CIE 1931 X

X,=109,84),=99,99.2,=3558 B,
Xy=0,4475y,,=0,4074 2
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bg=[bo,r+0o,y*+0p,al) Y

29 =ago [x/y] g
bg = bao [2M)

ap0= 1, b= ~0,4 %’/
. .

n = A00 -40
ag,y=apy(Y/Y1g-1) 54

b, y=boy(Y/Y1g-1) 12 |
a,,=0,000,5,,=0,000

30,4=0,000,by 4=0,000

Ostwaldcolours (0) Yy=100

'" max (m) chromatic value, AOO T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag, Bg
CE321-1A_1 CE321-2A_1
X,=109,84Y,799,992,73558 B, X,=109,84Y,,799,997,=3558 B,
X=0,4475y,,=0,4074 La0 Xw=0,4475y,,=0,4074 10

Ar=(ar~[ag n+ay yt+ag al) Y

B1=(by—[by y+by y+by A) Y

ag = a0 [(x-0,179y]
=hyo[2/M]

ay=1, byp=-0,4

my1=1,000,bg,=0, 17,1

65
& |

n = A00 —40
ay,y=ay(Y/Y1g-1) 54

by y=boy(Y/Y1g~1) 12
ay=0,000,b,,=0,000

a3 4=0,000,b; 4=0,000
Ostwaldcolours (o) Yyy=100

Ax=(ay[ag n+ay, y*ap al) Y
Bo=(ba-[by 1tz y+bo Al) Y

2y = a0 [(x=0,17D/y] i
=bs0 [(Mpx+bp1)/Y]

app=1, byy=-0,4 65
Mpy=-0,169,bp=0, 3&5 E
n=A00 -40 54

a5 y=agy(Y/Y1g-1) 12
by v=boy(Y/Y1g-1)
ay=0,000,b,y=0,000

a3 =0,000,b, 4=0,000
Ostwaldcolours (0) Yy\=100

max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)

CE321-3A_1 CE321-4A_1
X,,=109,84),,=99,99.7,=3558 B, X,=109,84Y,799,99.7,73558 B,
Xy=0,4475y,,=0,4074 +40 Xw=0,4475y,,=0,4074 T40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(D3-[b n+b3 y+b3 Al) Y B=(D4=[byg +ba y+04 pl) Y
ag = ay[(x-0,17D/y] + ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] 87 45 =50 [(Mp1x+bp1)/Y]

ay=1, byp=-0,4

Mp;=—0,974,b;=0,658 65
n=A00 -40
ag y=agy(Y/Y1g~1)

Ay

a50= 1, byg= -0,4 65

Mp1=-0,169 bp;=0,389 Ez E
n=A00 -40 54
12

34 40
54 i 3y, y=agy(Y/Y1g-1) 34
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE321-5A_1 CE321-6A_1
X,=109,84,~99,99.7,~3558 B, X,=109,84Y,,=99,99.7,~3558 B,
Xy=0,4475y,,=0,4074 X0 X=0,4475y,,=0,4074 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
85=8,,{(0,86¢-0,71y-0,026)$] + g = a0 [X/y] +
b5=b2)([(0’19(+0v3&_0v240)y] bg=b20 [(Mp1x+bp1)/Y] 87 45
=1,00by=1,00 65 87 5 850=1, byg= -0,4 A
)\B 6v R=475,503574.4 nm —o\. o 6
n=A00 =10 O 3¢ 40 n=A00 -4 3440
a5 y=apy(Y/Y1g-1) 12 34 ag y=apy(Y/Y1g~1) 2 A
bs y=boy(Y/Y1g~1) 1 b, y=boy(Y/Y1-1) 1
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




Ostwaldcolours (o)

0525

Yw=100

X,=100,00,Y,,~100,00Z,,~100,00 B,,

0,8 M rr;1ax (mz chro(mat)lc value, EOO %=0,3333y,=0,3333 95 éﬁo
510/ M chromaticity (x =
y t);\lami and spectral range étg;o_{?bg'":zg'vizg'd) M
Ry 561_770 ¥, 520_770 070 0.nTR0, YR,
Gm 475_573 (G, 380_561 ag = ao [x/y] 4L 2
G065y 380_520 M, 573_475 bg = bao [2M)
ay =1, byp=-0,4
A
L L N
n = EO00 _4'0 ! 4r0
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1) 35
a,y=0,000,0,y=0,000 5 T
ag =0,000,by A=0,000
CIE 1931 X Ostwaldcolours (0) Y\\=100 19
max (m) chromatic value, EOO T-40*
0,6 0.8 10 chromatic value Ay, Bg)
CE321-1A_1 CE321-2A_1
X=100,00,Y,,=100,00Z,=100,00 81 X,=100,00,Y,,=100,00Z,~100,00 B,
Xy=0,3333y,,=0,3333 Lap Xw=0,3333y,,=0,3333 T 40
Ar=(ar~[ag n+ay yt+ag al) Y 8 Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] 2 2y = a0 [(x=0,17D/y] 95 +
by =byo [ZA =bs0 [(Mpx+bp1)/Y] po
a0 = 1, byp= 0,4 a90= 1, byg= ~0,4 {—O\N A
My;=1,000by; =017 , il Mp;=-0,169,bp;=0,389 2
n = E00 —40 ' 40 n = E00 —40 . 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 57 3
by y=boy(Y/Y1g~1) 35 by v=boy(Y/Y1g-1) id
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours (0) Y\=100 19 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, EOO max (m) chromatic value, EOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE321-3A_1 CE321-4A_1
X,=100,00,Y,,100,007,,=100,00 B, X,=100,00,Y,,=100,007,~100,00 B,
Xy=0,3333y,,=0,3333 X0 Xw=0,3333y,,=0,3333 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bg~[bg ntb3 y+b3 Al) Y 95 80 By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] 2 ay =2y [(x-0,171/y] +o5
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y] 80
80=1, byp=-04 80=1, by=-0,4 -O\o\f A
Mp1=—0,974 b, =0, 658 : , 3 Mp;=-0,169,bp;=0,389 , , R
n = E00 ' 40 n = E00 40 t t y
ag y=ay(Y/Y1g- 1) 3 3y, y=agy(Y/Y1g-1) 5
b y=boy(Y/Y1g~1 by y=boy(Y/Y1g-1) 19 2T
,,=0,000,,,=0, ooo a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, EO0 T-40 max (m) chromatic value, EO0 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE321-5A_1 CE321-6A_1
X,=100,00,Y,,100,007,,=100,00 B, X=100,00,Y,,=100,00Z,~100,00 B
Xy=0,3333y,,=0,3333 X0 X=0,3333y,,=0,3333 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y 95 Bo
a5=2,,{(0,86x-0,7%~0,026) 80 a6 = ago [X/y] = -
b5=b2x[(0,19<+0v3&'—0 Zfﬂ/c}\ 42 bg=bao [(Mp1x+0p1)/y]
=1,00,by, = 1,00 20= 1, b= 04 &G4 A
)\B 6,vR=475,503,574,494¢.E nm , 5 . , 6
n = E00 ) 40 n = E00 _40 ) 10
a5 y=agy(Y/Y: 18_1) 5 ag y=apy(Y/Y1g~1) 35
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1) 57
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000 i
a5 4=0,000,b5 5=0,000 4 a5,4=0,000,b5 4=0,000 o4
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




515 520 505 Ostwaldcolours (0) Y\y=100

7 M, max (m) chromatic value, COO
chromatlcny (x,y)
Name and spectral range
Ry 561_770 ¥, 520_770
Gm 475 573 G, 380_561
B, 380_520 M, 573_475

CIE 1931 X

Xu=98,07,Y,~100,002,~118,283 B,,
%,=0,3100y,,=0,3161

Ao=(ag-[ag n+ao,y*ay,
Bg=(bg—[bo, 0o, v+
29 =ago [x/y]

by = bao [2/4]

ay =1, byp=-0,4

L
n=C00 _40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Ostwaldcolours (0) Yy\=100

0,0 500 max (m) chromatic value, CO0
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, B)

CE321-1A_1 CE321-2A_1
X=98,07,Y,,=100,00,Z,~118,22 81 93 X=98,07 Y,=100,00Z,~118,22 B,
%w=0,3100y,,=0,3161 78 Xy=0,3100y,,=0,3161 E
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 2 Bo=(by=[by +bs y+0y Al) Y
ag = a0 [(x-0,179y] + 2y = a0 [(x=0,17D/y] 9B
by =byo [ZA by=byg [(mP1X+bP1)/
ap0=1, byy=-0,4 A 850= 1, byg= -0,4 42
my1=1,000,bg;=0, 17,1 : ) 4 Mp1=-0,169,bp;=0, 389
n=C00 ) 40 n=C00
3y, y=ay(Y/Y1g- 1) aZ,V:aZY(Y/Yl8_1)
by y=boy(Y/Y1g-1 1 by v=boy(Y/Y1g-1)
a,y=0,000,,y=0, ooo 5 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ; ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, CO021 r—40 max (m) chromatic value, CO0 T-40
chromatic value A4, B;) chromatic value (A,, Bo)

CE321-3A_1 CE321-4A_1
X,=98,07,Y,,~100,00Z,~118,22 B, X=98,07 Y,=100,00Z,~118,22 B,
%y=0,3100y,,=0,3161 210 Xy=0,3100y,,=0,3161 210
Ag=(ag-[ag n+ag y+ag al) Y o Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y 78 By=(bg~[Dg n+by y+bg Al) Y

a3 = a0 [(x-0,172/y]
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

/./”Th

ay =2y [(x-0,171/y] 493 o
=50 [(Mp1x+bp1)/Y]
0= 1, byo= ~0,4

Mp3=-0,974,b;=0, 658 Mp;=-0,169.bp;=0,389 A
n=C00 40 n=C00 40 t t y
ag y=ay(Y/Y1g- 1) 34 3y, y=agy(Y/Y1g-1) 5
b y=boy(Y/Y1g~1 1 by y=boy(Y/Y1g-1) T
2,y=0,000,b,y=0, ooo a,y=0,000,b,,=0,000 6
ag A=0,000,b3 ,=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (0) YW—100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

CE321-5A_1 CE321-6A_1
X,=98,07,Y,,=100,007,711822 B X,=98,07,Y,,=100,007,7118,22 B,
X=0,3100y,,=0,3161 L40 X=0,3100y,,=0,3161 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y |
Bs=(bs~[bs,1bs v +Ds,a]) Y 78 Be=(bs (s by *De,) Y 25 18
a5=2,,{(0,86x-0,71y-0,02 P ag = ay [x/y]
b5'b2x[(0 19+0,38/-0,2 42 be=bz0 [(Mp1X+bp )Yk Ze

oy = 1,00,65 = 1,00 A ay0=1, byy=-0,4 A

)\B 6,v,R=475,503,574,494¢.E nm \ 5 6
n=C00 n=C00 _4'0 10

as y=ay(Y/Y. 18_1)
bs y=boy(Y/Y1g~1)
agy=0,000,b,y=0,000

} >
40
34

a5, 4=0,000,bs ,=0,000 5
Ostwaldcolours (o) Yyy=100
max (m) chromatic value, CO0 T-40

chromatic value (As, Bs)

ag y=apy(Y/Y1g~1)
b, y=boy(Y/Y1-1)
apy=0,000,b,y=0,000 57
a5 4=0,000,b5 ,=0,000
Ostwaldcolours (0) Yy=100
max (m) chromatic value, C00
chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




515 520 525 Ostwaldcolours (o) Yyy=100 X,=102,06,Y,,=100,00,2,,=81,06 BD
08 17 o M rr;1ax (mz ctg;o(mat)lc value, POO X=0,3604y,,=0,3531 +40
510(8 M chromaticity (x o
y Nami and spectral range g°=$°—{§gnita)gv:ta)gﬂ§ i 89 82
Ry 561_770 ¥, 520_770 070 0.nTR0, YR,
§M Gp, 475 573 G, 380_561 ag = ao [x/y] 4L 43
58, 380_520 M, 573_475 bg = bao [2M) 61
o ay =1, byp=-0,4 A
1 1 1 Lo
n = P00 _4'0 ! ! 4r0
Q628 ag,y=ay(Y/Y1g-1)
%95¢,E b, y=boy(Y/Y1g-1) 5 1 38
a,y=0,000,b,,=0,000
a9 A=0,000,by ,=0,000 e 5
CIE 1931 X Ostwaldcolours (0) Y\\=100
max (m) chromatic value, POO T-40
0,6 0.8 10 chromatic value Ay, Bg)
CE321-1A_1 CE321-2A_1
X,,=102,06Y,,100,00Z,781,06 B, X,=102,06,Y,,~100,00Z,81,06 B,
X=0,3604y,,=0,3531 La0 X=0,3604y,,=0,3531 10
Ar=(ar~[ag n+ay yt+ag al) Y 89 a Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
ay = a5 [(x-0,173/y] 1 s 2y = 250 [(x-0,171/y] 1
=hyo[2/M] 61 0,=byo [(Mp1x+bp1)/y] 89 82
ay0= 1, byo=-0,4 ay0=1, byy=-0,4 23 A
mr;=1,000b;=0,171 \ \ mp;=-0,169.bp;=0,38 ) 2
n = P00 —40 ' ' n = P00 _40 ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) U
by v=boy(Y/Y1g-1) 5 | 38 03 y=boy(Y/Y1g-1) | 10
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 I B a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
CE321-3A_1 CE321-4A_1
X,,=102,06)Y,,100,00Z,~81,06 B, X,=102,06,Y,,=100,00Z,,=81,06 B,
X=0,3604y,,=0,3531 L40 X=0,3604y,,=0,3531 T 40
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] 891 ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y] 89 82

ay=1, byp=-0,4

ay =1, byp=-0,4

| 82
/_O\4T3
43
Mp1=-0,974,0p; 0,658 &L : Mp1=-0,169 bp;=0,369 ) —\0\, Ay
n = P00 _40 ) a8 n = P00 _40 g ) ) 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b y=boy(Y/Y1g-1) 5 170 by y=boy(Y/Y1g-1) 17 |10
apy=0,000,b,,=0,000 17 ay=0,000,5,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy,=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE321-5A_1 CE321-6A_1
X,=102,06,Y,,~100,00Z,~81,06 B, X=102,06.Y,,~100,00Z,~81,06 B,
%y =0,3604y,,=0,3531 410 Xy=0,3604y,,=0,3531 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(5-[bs n+bs y+05 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
a5=ay,{(0,86x-0,7y-0,026)§] 89 tgo g = a0 [X/y] 89 182
b5=b2x[(0,19<+0,3&l—0,24 be=bzo [(Mpyx+bp)/y] e
oy = 1,00,0,, = 1,00 43 a0=1,by=-04 A
)\B 6,v,R=475,508.574.494c.E, nm ) 5 ) ) ) 6
n = P00 _40 ) 40 n = P00 _40 ) T 3540
a5 y=apy(Y/Y1g-1) 56 3 ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) + b, y=boy(Y/Y1-1) 56 L 70
a,y=0,000,5,,=0,000 17 10 a,y=0,000,b,,=0,000 17
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




520 oo Ostwaldcolours (o) Yy\y=100
7 M, max (m) chromatic value, Q00
chromaticity (X, y)
o2P0 Name and spectral range
m Ry 561 _770 Y, 520 770
'— Gm 475_573 G, 380_561
28575, 380 520 M, 573_475

X797 93Y,,100,002,116,93 By,
%,=0,3090y,,=0,3155

Ao=(ag-[ag n+ao,y*ay,
Bg=(bg—[bo, 0o, v+
29 =ago [x/y]

by = bao [2/4]

ay =1, byp=-0,4

. Ao
n= Qo0 4o 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
ay=0,000,64=0,000 &
ag =0,000,0 4=0,000
CIE 1931 X Ostwaldcolours (0) Y\\=100
0,0 max (m) chromatic value, Q00
04 0,6 0.8 10 chromatic value Ay, Bg)
CE321-1A_1 CE321-2A_1
X,=9793Y,=100,002,711885 B, 9 Xu=97,93,Y,~100,00,~118.95 B,
%=0,3090y,,=0,3155 %,=0,3090y,,=0,3155 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y 56 B;=(b—[by 02 y+02 Al) Y
a; = agp [(x=0,171)/y] 1 2 ay = a0 [(x—0,17D/y] 93 sq+
by =byo [ZA =bs0 [(Mp1x+bp )Yk 75
ay=1, byp=-0,4 A ay=1, byp=-0,4 42 A
mr;=1,000,b5,=0,171 \ \ M Mp;=-0,169,b5,=0,389 \ ) \2
n=Qo0 40 ' ' 40 n=Qo0 -40 X ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 57 3
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) 15
ay=0,000,b,,=0,000 - ay=0,000,b,y=0,000
a3 4=0,000,b; 4=0,000 a3 =0,000,b, 4=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, Q00 1g -40 max (m) chromatic value, Q00 T-40
chromatic value A4, B;) 6 chromatic value (A,, Bo)
CE321-3A_1 CE321-4A_1
Xw=97,93Y,,=100,00Z,~118,95 B, X,=97,93,Y,~100,00Z,~118.95 B,
%=0,3090y,,=0,3155 e %,=0,3090y,,=0,3155 20
As=(ag-[ag i+ag y+agal) Y 93 As=(ag~[ag ntag ytag al) Y
Ba=(03-[b3 ths y+b3 al) Y 81 B4=(bs~[bs r+Dg y*+by al) Y
ag = ay[(x-0,17D/y] gs 2 ay =2y [(x-0,171/y] 493 g
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
30=1, by=-0,4 ce A 80=1, by=-0,4 A
Mp1=—0,974.0,=0,658 | . \ \3 Mpy=-0,169,bp;=0,389 \ \ A
n=Qo0 —40 ' ; 40 n = Q00 _40 ' ' 40
a3 y=ay(Y/Y1g-1) 33 3y, y=agy(Y/Y1g-1) 5
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
a,y=0,000b,y=0,000  ° I ayy=0,000,b,,=0,000 186 T
25,4=0,000,05,4=0,000 hops a4 4=0,000,b; 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
CE321-5A_1 CE321-6A_1
Xw=97,93Y,,=100,00Z,~118,95 B, Xu=97,93,Y,~100,00Z,~118,95 B,
%=0,3090y,,=0,3155 ae %,4=0,3090y,,=0,3155 20
As=(35[35,1*35,y*a5,a]) Y o8 Ae=(@[B6 ity B a) Y
Bs=(bs—[bs b5 v+bs Al) Y g1 Bg=(Pg—[bg n+bs,y+0s Al) Y 8]
85=8,,{(0,86¢-0,71y-0,02 g = a0 [X/y] L 42
bs=by,[(0,19+0,38/-0,296%] 2 bg=bs0 [(Mp1x+bp 1)y,
age = 1,00,by = 1,00 A ap0= 1, byg= ~0,4 A
Ab.6,v,R=475,503,574,492¢,E nm \ 5 ) \ \ o
n=Q00 40 ' ' 20 n=Qo0 —40 ' ' 10
as y=ayy(Y/Y1g-1) ag y=apy(Y/Y1g~1) 33
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1)
a,y=0,000,5,y=0,000 apy=0,000,bpy=0,000 97 T
a5 4=0,000,b5 4=0,000 ap x=0,000,05 4=0,000 %

Ostwaldcolours (o) Yyy=100
max (m) chromatic value, Q00
chromatic value (Ag, Bs)

Ostwaldcolours (0) Yy=100

max (m) chromatic value, Q00
chromatic value (Ag, Bg)

CE321-7A_1

CE321-8A_1




